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It is G-Pfarev\b 'g'rom the unit drde definition of sine that
sin(t+2m) = sinlt)

1;o\r all veal numbers t. Therefore the 3\(&th\ of 5=sind;)

repws the Sha?e, ovey the interval o<+ < 21 }noleﬂnilcelj
4o the Yiak{‘z and left alonﬁ the 4 -axis.

Definition: We soy that a function -F 'S ?ﬂi"’{_‘t_c_ £ fore
exists exists o positive number P such Hnat ~§(t+P) - f iy
for all £ in the domain of §. In this case P is called a

perind of £ and the smallest such p>0 is called the funda-

menta| ‘pe,rioo\ for £,

For e.xabw\?\e, fky = sm&) s per iodic with fundamental
Ye\riod .
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HG:)—M\ 15 called the amF(ihde, of ‘f

Foy exa«m?le, ’5:({7): Si\’\(ﬁ) st &V@(aje Vﬂl%?- 0 mo(
amY“tJrW\e/

MAX \ Sin @7)\ = 1.
o£t< 2w

All six ng functions ave Ferioo\ic.

_ § umction fund amental ?erim\ amplitude
j = sin(b) 2T i
U: ('/05(_":) AT L

\\) = tan(d) L NA
\:}: C,SC.Ct) 2 ‘ NA
Y= sec (t) hin NA

3 = cob (b) us NA

Please see pages 4-6 of Your Triﬁ Review notes for the
3TwP\ﬂ$ of the six ‘trfﬁ functions .
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the am?\iimo\e, , ?erloo\) ana, ?kase shift .

deﬁon: CU“‘)““’NCJ&’, = lq\ = \ 3] =

eiod = 2L _ 2w
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hase it = S = Ta -




AHS stm?le haymonic  mobion b: Asn(t) + Beosit) can Le/

ex?vessea[ n the ecllu(\/aient Form D:Csin(i:w) wheve,
C=J A+ B> and tan(6)= -;-'

Reason: Rewrite L(S: ASMG:HBCosd:) as

L \ . ‘/AH_ o> < A A‘Y\(_'k)-{— B 7 ,,\)> l
™ YAT+ B VA +B-
Since the Pomjc P( \/A‘+517 {;%_1> lies on the wunit c)wclg

x.(,tj =1, theve exists an @njle/ o standard Fosltiow with

rad(ay\ meosuve O and s +erminov{ Sich ‘M{E»’S&cﬂvt% W

unit cwc[e at ?(\/ﬁﬁgl J/F‘+BL>' '83 definition

COS(G) = X = A

S;Vl (9) = = B
e J " iwwe
anad B
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+an@>: _ﬁ_ VAt B = B
x A A
VA*+ B>

S«bs’d*uﬁn% W (¥) we have the desired efoessien

= JA% B‘Z( cos(o)sink) + SinLO)cosd;)> = Csin(tto)



Emﬂe 2: Reduce the CthJoion y= sin(2x) + cos(2x)  to Hhe
’SZOYM %: CS‘MU‘LX +6) anc{ ShenLc)r\ #’\6 "‘(a"\'\.
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Solukion : §= drsin(m) + Lecosex) so by the | receding
Foct
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and  tan @)= B ‘
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